
Quiz 7 MATH 3280 3.00 Nov 18, 2020

Given name and surname:

Student No:

Signature:

INSTRUCTIONS:

1. Please write everything in ink.

2. This quiz is a ‘closed book’ test, duration 25 minutes.

3. Only non-programmable calculators are permitted.

4. The text has two pages, and it contains two questions. Read the
question carefully. Fill in answers in designated spaces. Your work
must justify the answer you give. Answers without supporting work
will not be given credit.

GOOD LUCK!
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Question 1 Verify each one of the following expressions and indicate which ones require the as-
sumption of independence of the future life-time random variables T (x) and T (y),
where x, y � 0.

a. tqx:y = tqx + tqy � tqx:y, t � 0.

b. tpx:yµx:y(t) = tqx ⇥ tpyµy(t) + tqy ⇥ tpxµx(t), t � 0.

c. t|qx:y = tqx ⇥ t|qy + tqy ⇥ t|qx + t|qy ⇥ t|qx, t � 0.

Question 2 You are given that µ(1)(t) = 1.8/(9� t), t 2 (0, 9) and µ(2)(t) = 1.5/(9� t), t 2 (0, 9)
are the forces of mortality of two life-statuses, say (0)(1) and (0)(2). Assume that these
life-statuses have independent future life-times and find the probability that (0)(1) dies
first.

The End.

!
"
#

$" %& $'($)& *+,-
"

. /%0 #/$1 2 "

3" %& *+,- ,04-+ %04-5-04-06-
6" %& *+,- ,04-+%04-5-04-06-7"8

9

5' :;< 2 = 6 ;6>2
= 9 2 ?@ A' . ;< 2 = & * 2 B $ C D*'4*

C

(E-+- * *

A#:; FG
= 9

& H2 $ -15 IJ @ ##&C$*I"-15II-"&4'0:-J&KIL-)5#+"&'0MN*KI+I#*K*%O"&
-& "

PE$'>/ 6*6>'
= # " #I 2 9; .Q2

=

R>@@ 2 $*

S&&T.Q2
=

4- " >"0'U4IJ-V= # W
"
:>'

X @W # J <> J Y 2 2 Z>
" O[OVO "


